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SECTION -1
Psychology
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Which one of the following is the
primary agency of socialisation?
(Aj Computer

(B) Political Parties

(C) Heredity

(D) Family

A child of sixteen years scores 75

in [.Q_test, his mental age will be

(A) 15 years

- (B) 13 years

(C) 12years
(D) 14 yeai's

Traits of Gifted students are -

(A) Use more common sense.

(B) Believe in understanding

subjéct matter.

(C) Have tendency of abstract
thinking,

(D) All of the above

[P.T.O.
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(D) STeTdre
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Piaget's which stage is related to
abstract and logical thinking ?
(A) Sensorimotor stage

(B) Pre-operational stage

(C) Formal-operational stage

(D) Concrete-operational stage

Which of the following evaluation
comes in the continuous and
comprehensive evaluation ?

(A) Only Formative Assessment
(B) Only Summative Assessment
(C) Neither Formative Assessment

nor Summative Assessment

(D) Both Formative Assessment

and Summative Assessment

Child-centred education was
advocated by which of the
following thinkers ?

(A) EricErikson-

(B) Charles Darwin

(C) B.F.Skinner

(D) John Dewey

Who propounded the Kindergarten
method ?

(A) Friedrich Frobel

(B) Gardner

(C) Watson

(D) Allport
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11.
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g o Gl # fhd YRR 1 Heiy
RIS e ?

According to Freud, 'Id' is based on
.................. principle.

(A) Sorrow
(B) Fear =
(C) Reality
(D) Pleasure

What is the relationship between
Intelligence and Creativity ?

(A) Zero

(B) Negative

(C) Positive

(D) None

Steq 1 GO wfeT I 0 Gllﬁl , ic eis considered most
e - 64&&@1& of life ?

(B) firemwiE
(C) <rerdH
(D)

[S]

11.

(A) Infancy

(B) Childhood
(C) Adolescence
(D) Adulthood

'Progressive Matrices' test was
developed by-

(A) Raven

(B) Gillford

(C) Tolman

(D) Terman

 [PTO.



12. §e & Wi & ®9 ¥ frds st | 120 Which psychologist used non-sense

1 TR TSR 3 fifen %2 syllables as a learning material ?
(A) et I (A) Carl Rogers

(B) oo S (B) William James

(C) et (C) Ebbinghaus

(D) ®RER

(D) Festinger

13. 9RA H WH AR ! WARTTel e | 13. When was first Psychological lab

T % ? established in India ?
(A) 1920 (A) 1920
(B) 1916 (B) 1916
(C) 1911 (C) 1911
(D) 1930 (D) 1930

14. Vo foadieh IRoME T A H IO & | 14. When two opposing motivations

mﬁam@wﬁﬁwﬁﬁg&aﬁ, arise at the same time and want

BY 1roeorrssssiin el | their satisfaction at the same time,
is called - B

(A) HJ (A) Frustration )

(B) &8 (B) Conflict

(C) Sum (C) Motivation

(D) <@ (D) Stress

15. ‘e’ faema o fagma fee | 15. Who’gave the theory of

e 'Psychosocial' development ?
@) ‘élE;{T - (A) Bandura

e (B) Freud

" - (C) Erikson

o) in (D) Jung

[J-2201] Series-C [6]
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16.

17.

18.

19.

Who gave the concept of Concrete,
Abstract and Social Intelligence?
(A) Thorndike

(B) Skinner

(C) Stern

(D) Terman

Which is not a Personality Test ?
(A) Rorschach Test

(B) 16 P.F. Questionnaire

(C) TAT.

(D) Binet-Simon Scale

Child Development is a product
of interaction between Heredity

and ......ooeeeeennnn. )

'(A) Physical development

(B) Mental development
(C) Moral development

(D) Environment

'The learner, the learning processes
and the learning situations' are
main aspects of-

(A) Philosophy

(B) Psychology

(C©) Mathematics

(D) Education-Psychology

[P.T.O.



21.

22,

23.

[J-

01 S & TET Y U fafy ¥

(A) aRomH
(B) dUReheaT
(C) fagetem
(D) foo=

Sta TSt 1 e fasm @ g
e foerm W enenfia 2

(A) ISR faehrd
(B) WeMRHe foehmd
(C) Sifaes faehmd
(D) SR |t

e ferfarert s fRranfeie = feg fafim

it Yfer A1 e | T g, fafi=

TR H Al T ITEANT H ¥, T

ECIECRS

(A) TER & Fg-3fe s & |

B) wgaad & fqw faww &
g 9 |

(C) aETiicHeh! & WHISToh~HIEH [
s 9 |

(D) e # F HE T |

2201] Series-C

20.

21,

22,

23,

[8]

Developmentis @ .....oceseeeeee process.
(A) Limited

(B) Continuous

(C) Positive

(D) General

Experiment is a method of
testing ..........cueee .

(A) Result

(B) Hypothesis

(C) Analysis

(D) Subject

On which development is Jean
Piaget's theory of child development
based ?

(A) Social development

(B) Cognitive development

(C) Biological development

(D) All of above

A teacher makes use of a variety of
tasks to cater to the different
learning styles of her learners. She
is influenced by -

(A) Gardner's Multiple Intelligence
theory

Kohlberg's Moral
Development theory

Vygotsky's Socio-Cultural
theory

(B)
©)

(D)

None of the above
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(A) Wrads g

(B) figm
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[9]

24. To write down the behaviours that

25.

26.

27.

héppen on the spot in that order is
called -

(A) Reflective Journals

(B) Observation

(C) Narratives

(D) Experiment

Learning is a modification in é
behaviour which is relatively ..........
(A) Temporary

(B) Permanent

(C) Controlled

(D) Uncontrolled

The most important objective of
Education is-

(A) Livelihood

(B) Learning writing and reading
(C) Intellectual development

(D) Allround development

Achievement, relationship, power
ATE oo kind of motives.
(A) Biological

(B) Environmental

(C) Emotional

(D) Psychological

[P.T.O.
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e | 29.

[10]

28.

30.

'‘Bhatia Battery' is used for which

test ?

(A) Intelligence
(B) Personality
(C) Creativity

(D) Attitude

Maslow's theory of Motivation is
also known as-

(A) Theory of Drive

(B) Theory of Needs

(C) Theory of Intelligence

(D) Theory of Personality

Attentionisa.......cceeeeeneen. process.
(A) Permanent

(B) Temporary

(C) Selective

(D) All of the above
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SECTION - II

English

Direction for Q.No. 31 to 33 : Pick
up the correctly spelt word.

(A) Discipal

(B) Disciple

(C) Dicsiple

(D) Dicsipel

(A) Perform
(B) Proform
(C) Prefrom
(D) Perfrom

(A) Disciplane
(B) Disciplaine
(©) Discipline
(D) Disiplain

Direction for Q.No. 34 to 35 :

Choose the correct option of

indirect form of speech.

She says to me, "' was unwell".

(A) She said to me that she was
unwell.

(B) She tells me that she was
unwell.

(C) She tells to me that she was

unwell. ‘
(D) She says to me that she was
unwell.

35. He said to me, "I have a friend in

36.

37.

[11]

Shimla".

(A) He told me that he had a
friend in Shimla.

(B) He said to me that I have a
friend in Shimla.

(C) He told me that I have a
friend in Shimla.

(D) He said to me that he had a
friend in Shimla.

Direction fo¥'Q.No. 36 to 37 :
Choose ¢orrect synonyms for the

waords in capital letters.

_COPE

(A) Hold
(B) Refuse
(C) Manage
(D) Yield

INNATE

(A) Learned
(B) Inborn
(C) Incidental
(D) Acquired

[P.T.O.




Direction for Q.No. 38 to 39 :
Identify the appropriate alternative
Jfrom the given options for filling in
the blanks.

WL 1 ——— serve our parents.

(B) May
(C) Should
(D) Oughtto

S go there.

(A) May not
(B) Cannot
(C) Should not
(D) Dare not

Direction fof Q.No. 40 to 42 :
Identify the appropriate options for
filling in the blanks.

40. FiveRupees ................ an excessive

41.

[J-2201] Series-C

price for this pen.
(A) is

(B) are

(C) was

(D) were

Two and tWo ..oz s four.
(A) is

(B) are

(C) makes

(D) make

42,

43.

44,

45.

[12]

Money makes the .......ccoueerree go.
(A) horse
(B) cow
(C) mare
(D) man

Direction for Q.No. 43 to 44 :
Choose the word which is the most
opposite in meaning to the word
printed in CAPTIALS.

VIRTUE

(A) Vice

(B) Character

(C) Honesty

(D) Integrity

HOPE

(A) Desire
(B) Belief
(C) Concern
(D) Despair

Direction for Q.No. 45 to 47 :
Choose the most suitable modal
from the given choices for blank
spaces.

........... God bless you with wisdom.
(A) Should

(B) Can

(C) May

(D) Would



46.

47.

48.

49.
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.................... you speak for two hours
at a stretch ?

(A) Can

(B) Could

(C) Should

(D) Would

|7, (- J—— obey the Constitution.
(A) would

(B) should

(C) must

(D) could

Direction for Q.No. 48 to 49 :
Identify the appropriate alternative
from the given options for filling in
the blanks.

Where there is a will, there ..............
a way.

(A) was

(B) is

(C) could

(D) should

God helps those Who ........cccccceeunen.
themselves.

(A) do

(B) create

(C) help-

(D) try

50.

51.

52.

53.

[13]

Direction for Q.No. 50 to 51 :
Choose the cotrrect form of voice.
He reads a book.

(A) Abook is read by him.

 (B) Abookwasread by him.

(C) Abook wasread by me.
(D) A book is read by me.

I will invite him to tea.

(A) He will invited to tea by me.
(B) He will be invited to tea by me.
(C) Hewill beinvited to tea by him.
(D) He will invited to tea by him.

Direction for Q.No. 52 to 53 : Fill
in the blanks with appropriate
conjunction for the given questions.
Run fast ....coeereeennnces you should
miss the train.

(A) before

(B) as-then

(C) lest

(D) in order that

a teacher.

(A) both, also

(B) both, and

(C) but, notonly

(D) None of the above

[P.TO.
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25,

56.

97.
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Direction for Q.No. 54 to 55 :
Choose the correct article from the
given options.

class.

(A) the, the

(B) a, the

(©) the, a

(D) None of the above

Ittookme.................. hour to reach
home.

(A) the

(B) a

(C) an

(D) None of the above

Direction for Q.No. 56 to 57 :
Choose the correct plurals from the
given options.

Plural of 'Negro' is

(A) Negros

(B) Negro

(C) Negroes

(D) None of the above

Plural of 'Epoch' is

(A) Epoches

(B) Epochs

(C) Epoch

(D) None of the above

58.

59.

60.

[14]

Direction for Q.No. 58 to 60 :
Choose the most appropriate
preposition out of the given

choices.
Jam busy .....coccoueueesene dawn to dusk.

(C) for

Hejumped ............... the well.
(A) in

(B) into

(©) to

(D) None of the above

I havelived here............ many days.
(A) from

(B) since

(C) for

(D) None of the above
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63.

64.
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SECTION - 111
Hindi

‘T’ 1 ISR W -
(A) ®3

(B) <@

(C) 7t

(D) 33

fiReR’ v og § - e 2
(A) Fgsiife g

(B) w5 wH™

(C) T& vy
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(D) =
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(B) 3

(C) W=

(D) =R

2201 ] Series-C

65.

66.

6.

68.

[15]

HEfeeh VI ©-
(A) T

(B) T

(C) 3w

(D) faet

EarEt g ‘o’ fRwes @g w@m
fopan <t %2

(A) TSI <A1

(B) <aisii @1

(€) T A

(D) | &

‘opfa’ o SifET §-
(A) wfaght

(B) hfemit

(C) wafast

(D) wfafast -

FH B YR W foFa & foFaa 95 €2
(A) 2
(B) 3
(€) 4
(D) 5

[P.T.O.
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(A) 3199 AT = S
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(B) gfewm

(C) Tqa fem

(D) 3Iwafem
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73.

74.

75.

76.

[16]

T A S el &1 Hfd 72 & 2
(A) TR Fed

(B) e

(C) @@

(D) e

TR T -
(A) T

(B) T

(©) Fw

(D) foeer

‘Ta-fea w1t H gE Fa & forg 3
faehed &1 999 Hi-

(A) &8

(B) &1

(C) wHYE

(D) eTegEivE

‘sTreTe’ g 1 farger @ %2
(A) 3™

(B) 1™

(C) et

(D) ATerEaA
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(A) T

(B) =iy &

(C) FI= v

(D) drered

‘FEETET T T SUE o
(A)

B) =

(C) =&

(D) &
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[17]

81.

82.

83.

84.

T HH-T1 TR Ay HT ¥R @ 2
(A) Ham

(B)

(C) TR

(D) 9o

(A) A | THR T
(B) ST T
(C) <&t S

(D) e &

frefafea & @ f&8 ‘WS’ &9
S & ?

(A) T

(B) dR

(C) i

(D) =iwed

&<t =1 fafyree dieh  s=vmen’ fva €9
# gag ofus gfas ©7

(A) T

(B) Wehvlehl WISl

(C) szt

(D) I
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86.

87.

88.

TR W 61 A 9 F: 8 ?

(A) W&
(B) w%
(C) T§
(D) fa

&<t % W= 9 # 9 9 9y a7 | 90.

I FHea © 2
(A) =R

(B) WIH 31ER
(C) =a~H

(D) A &

I & fva ;T2
(A)
(B) W
©) =
(D) ¥

4, <, a feaes 9% €2
(A) =S

(B) ==

(C) &R

(D) =i

[J - 2201 ] Series-C

[18]

89.

SRS e o a0

frfefaa o HH-a1 A’ 7= 72
(A) wEH

(B) 3=

(C) foame™

(D) At

T fet @ Hehd $ SR o1
forg wren =t fafa €2

(A) st

(B) TRISH & AUl

(C) el -

(D) R



91.

92.

93.
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SECTION - IV

Mathematics
=R 3| 1 Ged DA Hem M quiant | 91.  Theleast four digit number which
&, 8- is a perfect square is -
(A) 1024 (A) 1024
(B) 9801 (B) 9801
(C) 1000 (C) 1000
(D) 9861 (D) 9861

W& 63606 H 6 % T AHI H
AT -

(A) 60606
(B) 6606
(C) 6066
(D) 18

3% 9 W -8 A 9 qulE H
Fen -
(A) 2
(B) 3
(©) 4
(D) 6

92.

93.

[19]

Sum of the place values of 6 in the

number 63606 is-

Npexpme® eosos

(B) 6606
(C) 6066
(D) 18

The number of integers less than
-3 but greater than -8 is-

(A) 2

(B) 3

(€) 4

(D) 6

[P.TO.



9. xP-Z2+yP-2xy F TH THETE §- 94.

(A) x—y+z
(B) x+y-z
(C) x+y+z

D) y+tz-x

95. T U&= &1 HewH THIEdE 28 941 | 95,

IHT T YA 336 ¥ 1 AR T
&A1 112 &, T T S 7

(A) 56

(B) 70

(C) 84

(D) 98

96. 0.0016 1 T &- 96.

(A) 0.04
(B) 0.004
(C) 0.4

(D) 0:16

[J-2201] Series-C [20]

One of the factors of
222+ P - 2xy is-

(A) x-y+tz

(B) x+y-z

(C) x+y+z

D) y+z-x

HCF of two numbers is 28 and
their LCM is 336. If one number
is 112, then the other number is-
(A) 56
(B) 70
(C) 84

(D) 98

The square root of 0.0016 is-
(A) 0.04

(B) 0.004

(C) 0.4

(D) 0.16



97.

98.

99.
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25 faenfeft o § 729 wfrg # why
@ & | fere fereneff wifvr 4 wf =
@A §?

(A) 8

(B) 7

(©) 12

(D) 9

-2 g e i T T o

W7

(A)

(B)

(©)

(D)

Njos N|w g]ju NN

2 1c0 .
% 1AM §-
A) 3
®) 1
© 0
(D) -1

97. 72% of 25 students are good in

98.

99.

[21]

(D)

mathematics. How many are not
good in mathematics ?

(A) 8

(B) 7

(C) 12

(D) 9

15

Find the equivalent fraction of 35

with denominator 7.
(A)
(B)

(©)

Ny N g 9N

2 4c0
The value of l_tan# is-
1+tan”45°

A) 3
®) 1
@ 0
(D) -1

[P.T.O.



100. fereft <t et So & 31UR ® iy | 100. The circumference of the base of a
440 cm ¥ 3N THH H9E 2 m R right circular cylinder is 440 cm
N
ST 1 S T B (7 =_2_7Z and its height is 2 m. What is the
Y volume of the cylinder? (Take
n 2
7
(A) 30.8 m® (A) 30.8 m°
(B) 3.08 m® (B) 3.08 m®
(C) 308 m° (C) 308 m®
(D) & i A (D) None of these
101.1998 § foreh 291 &1 e 30.3 | 101.In 1998, the population of a

fiferam oft | -4 wen 30.3 fafaa | country was 30.3 million. The

I R? number which is the same as 30.3
million is-

(A) 303000000 (A) 303000000

(B) 30300000 (B) 30300000

(C) 3030000 | (C) 3030000

(D) 3030000000 (D) 3030000000

[J-2201] Series-C [22]



102. 3R T& i 3i% =) & 24x,9 Q @ If the three digit number 24x is

fasnfs & st & & ' w7 W i divisible by 9 then what is the
gp_"_) . D
¢ value of 'x' ?
(A) 6 (A) 6
(B) 3 (B) 3
€) 9 (C) 9
(D) 4 (D) 4

103. S HUIcHS quifehl <A TUNEA Bl | 103. The product of two négative

- | integers is-

(A) 0 (A) 0 oy
(B) 1 (B) 1

(C) RUTHH | (C) Negative

(D) &TeHe o (D) Positive

104. T U0 GHEGHS &1 &T%a A1G hL | 104. Find the area of rhombus whose
Sk fommull &t aagar 10cm 3R diagonals are of length 10 cm and

8.2cm ¥l \ 8.2cm.

(A) 82cm (A) 82cm
(B) 82cm? (B) 82cm?
(C) 41cm? (C) 41cm?
(D) 41cm (D) 41cm

[J-2201] Series-C [23] [P.T.O.
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T T e —————

105. W& Tq™ & <9 I 75°, 90° 3R 750
€| U1 e o7 -
(A) 90°
(B) 95°
(C) 105°

(D) 120°

106. T 56000 W, 2 =% 9g=d fhd X &

Z 280 WUl =TS I B 2

(A) 25%
(B) 2.5%
(C) 0.25%

(D) 0.025%

107.3,2,5,6,4,3,4,5, 4 = SIgeTsh © -
(A) 3
(B) 4

L © 2

5

(D) 5

[J-2201] Series-C

105. Three angles of a quadrilateral are
75°,90° and 75°. The fourth angle is-
(A) 90°
(B) 95°
(C) 105°

(D) 120°

106. What is the rate of interest which
gives simple interest of ¥ 280 ona
sum of % 56000 for 2 years ?

(A) 25%
(B) 2.5%
(C) 0.25%

(D) 0.025%

107.Mode of 3,2,5,6,4,3,4, 5, 4 is-
(A) 3
(B) 4
(©) 2

(D) 5

[24]




(A) 45
(B) 46
(C) 47
(D) 48

109. Friffem # w5 @ o s @

R vt ¥, fet e o 2

(A)
(B) zr+2r

(©)

27mr+2r

2zr

7z'r2

—t 2r
2

(D)

110. (3° + 2°)>< 50 1 5o T T B

(A) 0
(B) 1
©) 2
(D) 25

[J-2201] Series-C

108. The 10" term of A.P.2,7,12......... is-

(A) 45

(B) 46

(C) 47

(D) 48

109. Which of the following fepresents

the perimeter of a semicircle

having radius 'r' ?

(4)
(B)
©)

(D)

27y +2r
zr +2r

2y

71'7'2

—+2r
2

(

110. On solving (30 + ZO)X 50 we get.

(A) 0

(B) 1

(© 2

(D) 25

[25]
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111. TFT &t &iei 13, 8,15, 14, 17,9, 14, | 111. Let x be the median of the data 13,
16,13,17,14, 15,16, 15, 14 FIATEAS 8, 15, 14, 17, 9, 14, 16, 13, 17, 14,
x ¥13fE 8 % TM W 18 = fga =, 15, 16,15, 14. If 8 is replaced by 18,
amﬁmy%lxmyﬁ thenthemedianofthedataisy.
Ml &1 90 - What is the sum of the values of x
| and y?
(A) 28 (A) 28
(B) 29 (B) 29
(C) 30 (C) 30
(D) 27 (D) 27
112. 999 99 o1 HEAS 1 7 & 112. The mean of first five whole
numbers is-
(A) 5 . (A) 5
(B) 10 (B) 10
(C) 8 (C) 8
(D) 2 (D) 2
113.3Rﬁ[35ﬁﬁ e ARSI €1 T A | 113. The sides of four triangles are
FH-91 G THDI TS o &2 given below. Which of them forms
aright angled triangle ?
(A) 20cm, 22cm, 24cm (A) 20cm, 22cm, 24cm
(B) 15cm, 32cm, 37cm (B) 15cm, 32cm, 37cm
(C) 11cm, 60cm, 61cm | (C) 11cm, 60cm, 61cm
(D) 19cm, 40cm, 41cm (D) 19cm, 40cm, 41cm

[J -2201] Series-C [26]
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114.x - AT HY ............ i e ST ¥ 114. x- axis is also known as ................ ;

(A) abscissa
(B) ordinate
(C) origin

(D) quadrant

115.ﬁ|'-§(2, 3) 3#{(4, 1)¢Eﬁi‘ﬁ§ﬁm 115. Find the distance between the

g | points (2, 3) and (4, 1).
(A) 42 A) 42
(B) 32 (B) 3\/?
©) 22 © 242
D) 12 D) 12
116. 3 Tan A = Cot BM A+B=....... 116. If Tan A = Cot B then A+B=....... ?
(A) 90° (A) 90°
(B) 180° (B) 180°
(C) 360° (C) 360°
(D) 45° (D) 45°

[J-2201] Series-C - [27]
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117. T g bl ArTd A 7 120 £ 4afg | 117. The cost of a flower vase is ¥ 120.

THFFER T 10% & W A T @ If the shopkeeper sells it at a loss

T fersha ed & QI 2 of 10%. Find the price at which it
is sold.

(A) T 138 (A) %138

(B) %132 (B) %132

(C) %108 (C) T108

(D) X104 (D) % 104

118. afg 1+_x_=_1§ ?, W@ x & AA | 118. If " +L=E, then the value
2 144 12

144 1
B- . of x will be-
(A) 24 (A) 24
(B) 28 (B) 28
(€) 29 (C) 29
(D) 25 (D) 25

119. §& A (0) B- 119. The number Zero (0) is-
(A) foom qem (A) Odd number
(B) 19T HEA (B) Prime number
(C) TEHfash W& (C) Natural number
(D) oI wE& (D) Whole number

[J-2201] Series-C [28]



1120, @ T e
\1 T’fmaﬁ‘q’ﬂmm TS | 120. The product of two whole
T =TTAH | I §- numbers is 24. The smallest

possible sum of these numbers is-

i‘:)). 8 (A) 8
9

(B) 9
©) 10 5 10
(b} 12 D) 12

[J-2201] Series-C [29] | [PT.0.



SECTION - V
EVS (SCI), G.K. and EVS (SST)

121. 314 WHIS it T el §8 2
(A) 1875
(B) 1880
(C) 1885
(D) 1890

122. fog femmerett Sl Ta==Idl & I AU
YRA 1 Jeel THAR = USH fha
T o1 ?

(A) forsm HAR

(B) & Nl TH
(C) o faswy o=
(D) FSR G Sl

123. USR &M 9 & o a9 #ruscia
O foaq & eudl FEtfatea 5§49 f59
& T STal ® 2

(A) 29 FaR
(B) 29 3T
(C) 294

(D) 29 3T

124: %748 § TRl H1 Ho g fma
€7
(A) 512
(B) 1024
(C) 1028

(D) T8 ¥ I e |

[J-2201] Series-C

121. Arya Samaj was founded in year-
(A) 1875
(B) 1880
(C) 1885
(D) 1890

/

122. Which Himachali was awarded
India's First Param Vir Chakra
posthumously after Independence?
(A) Vijay Kumar |
(B) Baba Kanshi Ram
(C) Captain Vikram Batra
(D) Majox,Sémnath Sharma

123. Major Dhyan Chand's birthday is
©  celebrated as National Sports Day
in India on which among the
following dates?
(A) 29% July
(B) 29 August
(C) 29 March
(D) 29 April

124. The total number of hymns in
Rigveda is-
(A) 512
(B) 1024
(C) 1028
(D) None of these.

[30]



125. T T =t ool  fedbew @ o | 125,

®?

(A) faarfmm A
(B) fo=rfi= B
(C) faarfim ¢
(D) feafam D

126. €7 J 5 91 Frafer s & Ty | 126
BRI TR 1 St §2

(A) 9UE H3ft

(B) T TS g
(C) Su-Tsgufa

(D) T~UrE

127. %= TG A1 GEATTF ST ST 47 2 127

(A) THeR fHe
(B) TE THA
(C) wifedt a4
(D) HIEe

128. fermerel Ue¥T <1 TiER I fea ot 9§ | 128.

Frsifeera § 2
(A) HiTeT
(B) =l

(C) Temem
(D) fawdR

[J-2201] Series-C [31]

Deficiency of which vitamin
causes Rickets ?
(A) Vitamin A
(B) Vitamin B
(C) VitaminC
(D) VitaminD

.Which of the following is not

appointed by the President of
India?

(A) Prime Minister

(B) Chief Election Commissioner
(C) Vice President

(D) Governor F

. Who was founder King of Chamba

State ?

(A) Champeshwar Singh
(B) Meru Verman

(C) Sahil Verman

(D) Saatvahan

Jhanjhar dance is from which
district of Himachal Pradesh ?*-
(A) Kangra a
(B) Chamba

(C) Shimla

(D) Sirmaur

[P.T.O.



129.39 ¥ 915 ST STelt =i+t & § ? 129. What is the name of Sugar found

in milk ?
(A) g™ | (A) Sucrose
(B) W™ ‘(B) Fructose
(C) =™ (C) Glucose
(D) TR " (D) Lactose

130. #ra YRR H Sfeerdi i ed €& fohat | 130. How many total number of bones

g2 are there in Human body?
(A) 206 i (A) 206
(B) 205 B (B) 205
(C) 208 (C) 208

(D) 204 (D) 204

131. fava fagm feag s« 99/ s &2 131.When is World Science Day

celebrated?
(A) 28 wEl (A), 28" February
(B) 10 wTeRt ' (B) 10%™ February
(C) 10 Te=R (C) 10" November
(D) 8\ = (D) 8% March

132. 3TEAT I AT doren frefaied § ¥ | 132. Which instrument measures

-1 AT 2 Humidity ?

(A) SR (A) Barometer
(B) wrEUIHIR 2 (B) Hygrometer
(C) e (C) Thermometer
(D) BESHIX (D) Hydrometer

[J-2201] Series-C [32]



133. 1999 e feore o Ten

¥?

(A) 9=
(B) 11 S[emd
(C) 10 sFrq
(D) 978

134’“@"1%@%“@@ 134

T B-

(A) SfEYE S 9y 1y 3
(B) Wfaum & sy rv.a #
(C) Wi & w11y &
(D) Gfae™ &y v &

135. TSI T Y= A1 off-
(A) TR
(B)
(C) TR
(D) IR

136. T -HTAH T TEH I § 2

(A) HerH e

(B) afRH == <<l
(C) =T TR

(D) ING =5 AITEA

[J-2201] Series-C

[33]

133.

135.

136.

World population day is celebrated
on-

(A) 9 June

(B) 11" July

(C) 10" August

(D) 9" May

.Fung:_lamental Duties of Indian

citizens are mentioned in-

(A) PartIV of Constitution
(B) PartIV-A of Constitution
(C) PartIII of Constitution
(D) PartV of Constitution

Ancient name of Kangr%’r was-
(A) Nagarkot

(B) Trigart

(C) Palampur

(D) Bushahr

Who is the Author of Vande-

Mataram ?

" (A) Mahatma Gandhi

(B) Bankim Chandra Chatterjee
(C) Rabindranath Tagore
(D) SharatChandra Chattopadhyay

[P.T.O.



137. T Sfea ffafe et (RIMC) f9 | 137. Rashtriya Indian Military College

T e §72 . (RIMC) is in which State ?
(A) = (A) Kerala

(B) Iw@vE (B) Uttarakhand

(C) fewret ge@ (C) Himachal Pradesh.; -
(D) werTg (D) Maharashtra »‘

138. STHEAM STIeH fora & foar? 138. Who started Non-cooperation

movement ?

(A) wer e | (A) Mahatma Gandhi
(B) S A TE® (B) Jawahar Lal Nehru

(C) =Tt TR fefereh (C) Bal Gangadhar Tilak
(D) §¥™ o< < (D) Subhash Chandra Bose

139. =1 & 9 fewreret wewr 1 Wl &Af¥ | 139. Among the following which is the

SEE! S arel fSel hiF-91 § 2 most densely populated district of
) Himachal Pradesh ?
(A) &1 © (A) Una
(B) =l ‘ . (B) Chamba
(C) foama (C) Bilaspur
(D) THRR (D) Hamirpur
140. =3 STt faga afEs f® 7t W | 140. Chamera Hydroelectric Project is
@ g2 situated on which River ?
(A) qagst (A) Satlyj
(B) IgT (B) Yamuna
(C) =™ (C) Beas
OEE | (D) Ravi

[J-2201] Series-C [34]



141. TeT= Wowr § weer) s el weh

STt § 2
(A) foemEgR
(B) WY

©) =T
(D) &

142, SAHE H HERTSE B T9Te] B §2

(A) % FHeUETE
(B) W fog sivam
(C) T Tk
(D) 38§+

143. TeoHlosito w1 fora &9 §-
(A) Tafrrmre WRifaem T
(B) <mge Yaiferam T
(C) < TAferaw i
(D) < Yo

144. 1989 $o H yor Tar<t e SeT BRI | 144,

TR TRy e ?

(A) it Sy
(B) st SR fertur
(C) it vam =ud
NS

[J-2201] Series-C

[35]

141.

142.

143.

Kehluri Language is spoken in
which part of Himachal Pradesh ?
(A) Bilaspur

(B) Lahaul

(C) Kullu

(D) Una

How is the present Governor of
Maharashtra?

(A) DevendraFadnavis

(B) Bhagat Singh Koshyari

(C) Rahul Narwekar

(D) None of these

LPG is abbreviation of- 5
(A) Liquefied Petroleum Gas
(B) LightPetroleum Gas

(C) Low Petroleum Gas

(D) Lime Petroleum Gas

Who was presented in 1989 with
first Pahari Gandhi Baba Kanshi
Ram Award ?

(A) ShriKeshav

(B) Shri Jaidev Kiran

(C) ShriShyam Chaudhary

(D) Shri Yashpal

[PT..



145, ‘$fea fearse’ & e ©-
(A) THowho el
(B) STo SIS THIG
(C) SoTdo Te®
(D) WER WA

146. "HH S’ IR ' HHd ' < 9ihs
e §-
(A) ZHRX &
(B) <ISM™ hi
(C) e
(D) FR T

147. STeR 1 YRd T 3TEHAT HH & fog
T et foman o ?
(A) e @ el
(B) o<y oidt
(C) Iomifed <t
(D) 379 | =18 T8l

148. T5@R < foba <1 el &t '@ W
feorg ¥7?
(A) fr=irR-fmen
(B) TS
(C) =Fe-hee]
(D) -

[J-2201] Series-C

145. The author of "India Divided" is-
(A) M.K. Gandhi
(B) Dr.Rajendra Prasad
(C) J.L.Nehru
(D) SardarPatel "

PR L

146. 'Kufri Jeevan' and 'KufriJyoti' are
two famous varieties of-
(A). Tomato-
(B) Almond
(C) Potato
(D) Grapes

oo }‘,’\

147. Who invited Babur to invade
India?
(A) Daulat Khan Lodhi
(B) Sikandar Lodhi
(C) Ibrahim Lodhi
(D) None of the above

148. Indrahar Pass is situated on the
border of which two districts?
(A) Kinnaur-Shimla
(B) Kangra-Chamba
. (G} Chamba-KulIu.
(D) Kullu-Lahaul

[36]
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[J - 2201 ] Series-C

49.1857 =1 faxe
14% 18; g aia =i @ ¥ | 149. On which date, the revolt of 1857

| started from Meerut.?
(A) 10 May 1857
(ﬁ) \16 April 1857
(C) 11 July 1857
(D) 26 June 1857

150: The term 'double fault' is associated
with- |
(A) Tennis
(B) Hand Ball
(C) LongJump
(D) Rugby

kekkhw

[37]  [PTO.



